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11.2 Let: xj= {

113 (a) Letx= 3y, + Sy, + 13y, + 21y, where ¥

1 if Investment j is selected
0 otherwise

maximize profit = 18:::1 + 12.::2 + 7x3 + 24::4 +1ix, + 15::6 + 9;:7 + 6::8
subject to

2(51::l + 34x2 + 18x3 + 45:r4 +31x5 +39x6 + 23:1(7 + 13x8 =120
xl + x4 =<1

Fots L

X binary

+y2+y3+y4=1,ybinary_.

(b) Let Mbe an arbitrarily

large positive number. Then an equivalent linear integer for-
mulation is: :

aat:lx1 +...+a2x22b-My
arx, +...+azxzs-h+M(1~y)

(b) Let M be an arbitrarily large positive number. Then an equivalent linear integer for-

mulation is as follo

x1+2x2512+M(1-y1) ;
3x1+2x2512+ M(l-yz)

-x1+3x253+M(1-y3)
Y1 +y2+y322



1 1t Investment Option j is chosen
119 Yet v.= { :

j 0 otherwise
xj = amount invested in Investment Option j

maximize return = 0.13::1 + lZO.(IlS‘x2 + l:l.l‘?x3 + 0.10x 4 + 0.22::5 + 0.12x6

subject to

x1+x2+x3+x4+x5+x6=80,000,000

x55x2+x4+x6 =
Y35

3y, <x, <27y,

2y2 < Xy < 12)'2
9y3 st 535y3
13,'4 < X, < 15)!4
12y5 st S46y5
43{6 < Xe < 18y6
x20

¥ binary

11.11(a)

IP Optimum
x* = (3, 3)
z¢=9
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Chapter 11

11.10(a)

(5,0

0 x,

(b) Each of the rounded-off solutions {(5, 4), (5,6), (6,4), (6, 5)} is infeasible.
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